KK 251504540

y . 74
» SPERTE 2%2-M2.6x0.45Px4DP 2"”‘?4);%2” 47 4-M4x0.7Px10DP
7 30
yal
I $ [ ¥
] A HiH
=% ¢ ralerE B il
. Emmy Ez%::: Fe—g N
¥R I @ MR ol B 40 L
T + M+ 57
| K G
2 '
L1
60
312 o
6.5 ~ <
. 10| <
/] - 8 8
W e leee ﬁwﬁ,__ 5
G 7/ G i
- L o .
LA
View B
n FEWPERTE
2xn-@4.5Thru, 74
@8x4DP ‘ % 4-M4x0.7Px6.50P
2x2-M2.6>ngPx4DP \ 15x1.3bp! ! BOIEE:
- — i =
s @ é I + [ + ]
e = % L g
4+ ® @ || HAlmlp=d JELTF
i Iy &
25 125 "
50 \ K 2-M3x0.5Px4DP 57
e L1
60
) 4 34
o, 4-M3x0.5Px6DP 5
& 10 70 =13
I, - &8
| w \Z R -[T de_
2| S| ZERN g ! |
817 | ) : 7] ¥ —
(N & 0 — L% P I T 1
] N " LA
KK50-150A1-FO ‘ 80 G Views
(n-1)x80
. o m | UBKE K BATE (mm) | G | K | n E2(kg) = EAAEE(MM)| 1 7 | BiFA%E
R8BS BESR | "mm) | Limm) [ AR | ABEE |(M)|mm)|(mm) [ ATEE | AR | (mmisec) gmEE | (N) | (NM)
P 150 2107 | 70 / |35 8 | 2| 1 /
BER 200 2607 | 120 55 |20 |160| 3 | 1.2 14
KAKSD | 2 c 250 3107 | 170 105 | 45 [ 160 | 3 | 14 16 270 0.02 8007|152
—R 300 360.7 | 220 155 | 30 | 240 | 4 | 16 1.8
s KAK50-2-C-200A2-F1-H —
o |y EE N =R 2ZHADelivery
k e s e el QE_
. — e KAK50 , |PHEELE| 150 A1:1 FO  |H:iBiP= x| &%
IERERITE c:—fem| 200 A2:2 F1 C:xip= OFF=mREmEAZRER

P390



